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�ض ر��1- ف- ا��
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� 1               ��03 ا�0�2&�   .: H =2m  .  <+.�g = 10m/s² و/;:! 9' ا8رض ���7�� AO �-�,6 5m �5� أ
 : درا5� ا�@�آ� 9<= ا��7�-1

A9  �B@� !t = 0 C(>(��7 آD E>F� m 'G A �و/�,ن زاو� �(��� �-(-J(G ة,� �
�./ K@/ �
L!� �9� NG ا��7� و αααα = 60° �-/!M �!ون 5
F =8N .  �آ�O رس!�G NG E;FAG C>Qأ �
>
��R S��/;% ��8رض �:);G �>:G T� �7Jر ا�,U� آ��G A.   

!
Oة و,&� �V���G آ�ت��(OX �آ�   .f = 1Nة J(G-)-� ���)� وAG@�ه� G:�آ] ��A@= ا�@�آ� وNYZ� �-/!M ا��7J +*ل ا�@
�,ق ا��7�؟ -1 C(آ�O �7 +*لJ9<= ا� �&;Fد ا�&,ى ا���Dأ  

E ا�&��,ن  -2;F(�II �>(9' ا�� �;9 '/,
A� m ��X!� F و f و αααα و aG�7 ؟Jر ا�,U� آ��G �7رع/  
�آ� ا�&U,ر 03��2 ا�0�2 -3G �9��ات 5
a/ G@ل ا�*+ 'Gا�� ��X!� �آ�. 

3.1-0�M                                                                                 آ� ؟�
� /�7رع ا�@��
;G '
9 2  
3.2-(A(5ا b �>(ا�� ��
� m؟   
5�9� وC�,Q إ�= -3.3 b(A(5آ� وا�@>� �
AGا��:�د�� ا�� d(أآ o؟   
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2-�B(Aل ا�3&��� ا���JG T�  : درا5� ا�@�آ� 

 �F&Aا� !A9  o ف ا�&,ة<@/ F7J� درا�aو� �&;Fا� ا��,(>� *Qه� أ�;(:� �B@� T�
 e&7���F&A�  ا��7� � fر�Bا8رض gF5 =>9 .  
�آ�  -1@>� '
(
AGا�� '

,/' أوD! ا��:�د�)A� T��3ا�&��,ن ا� E
;F(�x =f(t) و y =f(t)؟   
 اG b(A(5:�د�� ا���7ر ؟ -2
3-  �F&Aت ا��
��� B 'GأوD! إO!ا�a(7ا�� �
AGا��!ة ا�� d7Oأ �� A =إ� B؟   

  :)�&%6(2ا��
���ء
1- '
�Y(دة ا�,D:  


j �7):�0 ا�!ارة ا��)��G<� ا���JAة �<J!اءiر�5ل إ�Mرة:k دد�  . ذات /

' ؟                                       -1                �Y(ف ا��9                             t(ms)  


' ���0 آg7 را�5 ا�)>�>ب-2�Y(دة ا�,D 'G E&@(>� )م�BAا�XY (T��(0 9<= ا�0�2 ا�U@A�. 
 2.1- jAQ �G  ؟C
>9 0U@ا�� '
�Y(ا�  
 2.2- '
�Y(7;� ا�� d7Oأ m   TF:� ؟ a = 2v و   b =4v   

      2-�A�YG �D,G ا5)&;�ل .  
�آ
A�YG �D,G 0;&(7� d5�AG d� ا�,N5 ذات /�دد          / �F5ا,�   Fp =4kHz     رة�Miل 9<= ا,U@و ا� '
�Y(0 إزا�� ا�Dأ 'G   

LC oء NG دارة ا5X)&;�ل رآ;K ه>S ا�D8ا).Q,ت(         O L =5mH.   

  رآd ه>S ا�D8اء و�E /7<7<-� وO!د دور آ�D 0ء ؟-1.2
2.2- j35:� ا��� d7OأC؟ �A�Yا�� �D,ا�)&�ء ا�� 'G '��/ T(ا�   
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�ء�
                                     :)�&%6(ا��

!�!O ن ا�:�,د,��/ �JO =>9 �9,د �@),ي jU� 0آ o
O ��!U�v =100ml �
   G C =5.10-2mol/l' ا��@<,ل اT�,�8 و /�آ
 C(>(ود آ�
�ر m =10g .  C/!Mا��)/ ��
� �(G �
;Gأ �F5,ا�ود�' �(��X0 اU�I=30mA ة!�� ∆∆∆∆t =20h .   

� �Z)�ل ؟ -1�!U&ا� �>�
<� 9<�� أن U@ا��:�د�� ا� b(A(5ود وا�  أآ)G d:�د�� ا�)��09 ا�>ي �@!ث �J,ار آ0 ا��)
 أd7O آ�
� ا��-���ء ا���O,A� +*ل ه>S ا��!ة ؟ -2

� ؟ -3L�-Aو ا�@��� ا� �
L!;ا�@��� ا� �A
;G ر ا�)@,ل,F(� T�Q,ول ا�!Jا� s2أ� 
� آ)<� آ0 ا� -4
a/ d7Oا�)&!م أ ���O T��ود (�x = xmax؟                     
(Dا���دو''
  Fe2+/Fe و Sn2+/Sn:  ا��)��9<)
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